
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



Example: A batch of wet solid whose data are given below is to be dried from a 

moisture content of X1 = 0.38 to Xf = 0.04 kg H2O/kg DS. The weight of the dry 

solids is Ms = 399 kg and A = 18.58 m2 of top drying surface. 

Calculate the time for drying. (Given that Rc = 1.51 kg H2O/h.m2). 

For falling rate period: 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



Example: Repeat the previous example, but as an approximation assume a 

straight line of the rate R vs X through the origin from point Xc to X = 0 for the 

falling rate. 

Solution: 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

L = 1/2 the thickness of the slab when 

drying occurs from the top and the bottom 

parallel faces. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 


